I Eﬁ, :
E =

318%1 100 & = 3% A ﬁ%ﬁ% ;é ALE R AR YR
100# = 7% 4 R : ﬁ
100# 446 ¥ 3%

R A
BE VAR
s PER A ER (Y FAREE CEE R E)
FEEEF L BB
MAR P ORGP H - ER RE Y ﬁxi@ g X _thgiﬂ" P IZREA A A o
B 5055’“‘*5\2"7\ ’/F”* ZBﬁ’g Bdt L RATELF R hle o R FE S 23 30
ELET RIHE
1 EFERBERL S IR # ) I?W%F,%ff%EJT‘FFB’ETH L R I SR - AR 2
(Al [ A B 1k O FH LA
2 Nl 2 TS IR AR B R 7
(&) B (B EL N C )_@»jiﬂ J OB |
3 *ﬁ*iiitﬁ‘*’ﬁfﬁﬁ%@ﬁ* UFRRED T (e 3% T F i - RS R R A 2
TIRE B E R @ﬂﬁ%bﬂﬂwﬁﬁ
ClMad e It LR kil
4 @Wﬁﬁﬁimﬂwﬁﬁw’*ﬂ Ii# ﬁﬁ%ﬁﬁﬁﬁ%WJVﬁ~ Wﬁiﬁ°

10

VR AR i B
T TS A
OFEZEEDFAR - BT RY S HEEY 4 T SR
D [F=$% gIJ\LﬂI:[FF R T r‘gﬁ[l‘%m%k&kﬁl]% D[ J AR

EEBY 56 [V I Wﬂﬂi‘EP‘%éF (IS
H'?F*wﬁ’ﬂﬁ ! I—fﬁﬁwaﬁl}% 1 E'“;W%F%W?E?%&Wﬁl
OF = PTeBES I =) “ﬁﬂﬂ%?%ﬁvﬁ«l‘ i)
(I R 2 [ﬁﬁlﬁﬁ' R 7
(AR BBF Y =k © = =1k DFF 2 634
(R A RAISIEY VA F R R BR pURSL T L

WA ~ FYARARIIERAT - Hll*ﬁ‘ﬁ‘ﬂ[‘?ﬁwmt’}@rEFJFMF&ELP
B) i A e PR 2 PR BRI
OF PR S F IR > T R RS
(D)= PPk e O 5 AT - BT g 3 ]
INE I ER IR B PR E Fﬁﬁﬁ[’ﬁ% N
(W) A S FEREA o 2 RS Eﬁﬁ*% BT e R G|
(B)ﬁil[“ffﬂ@?ﬁéﬂ# * F‘EIEH
CHANEE S o T fﬂ]@ T
D)WHE[ s~ 4~ slyﬁwﬂ@wmﬁku
Fﬁ%ﬁ AT 14 % ”"’Tlﬁ&f‘ﬁ?ﬂ@%f PR P AT R LY

B (T T AT 3 1Y B) & I T IR
O P A LS D 3t R
PP o 2 AR TL - 2 Rl R IR T L (U A 2

WF I BEASETE OF (=1 DFEEFIE



11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

g 2 2801

RSN A S H ALY

(A) 0 R [ 1% il B S L Rl A

SR L e SN e N ®ﬂﬁh¥@TWE**ﬁﬁ%ﬁWW$E
[ 27 143 l"ﬁ‘Tl TRV RE A PRI > PR (B AR 0

WL GEA O EHEs O 1
X 5T 160 fR2Y 2 S =haSaah SR A S VBN - B e 2

WHTHZ) B [R5 OBHFT) OFEEFF)

%Edikﬁ[%gﬁ?@szmm/g% A L2
W= BRI P~ S0 MR 9 IR A IR

OFLHI T HATE Ly OBV RS Ik
*7U1 B PR ERRERY [E A B HNE'

WH * (B)= - et
©FU= MR (D] 122 S | 9 -
I iR vk 5 26 FEATEF RRE R TRELY 78 > Il H SRR
(W) R R ] P R R ] A B () #EEss ()
Ow W (58~ s (58 7l B O3 T T R £
YRR = SR I RLRDE R ([P LA BT R 2
WA 2 (B) s S A - OFHY [ ORI 91 2
“\7Uﬂﬂ~ B R F*ii:ﬁﬁ*éPmﬁﬁﬁﬂlgiﬁﬂ*ﬁf%ro

@ IR BB 3 F 17T TS ORI DT I
*7UI PH T WD R 2

(A Ff G B EF E RIS D HFF E
I T IR SRS SR 2

(0 SN BT PR AP @I VI
©FE ~ Ilfﬁéé‘wﬁytﬁ% (D)?rI NS Eq%??
%%Hwiﬁvmwﬁimﬂt%$9
(A) FE 5555 (B)ELE | (M 525 ORISR D) SR 55
FRIFIELY (i At IR ?

(WS EF %@ﬁﬁpnv 1 H I~ SEGHHE AR, - 2

@S EFF - s E [V H o ﬁﬁ&ﬁf#ﬂ%ﬁri

O

el = PR TR R A T R R Y FIER Y R
[“[fllrggrﬁl}{qu }“gd\ﬁé%ﬁg » sf [}Fj:rf[ Fges E‘Jﬁé—' CHERFIY A —J[HH;UF
T I 141 " AT LR R R B PR PR o R
S P VRS

(= [ * o B [ " Vi
O fffs * VTS ORI - g
I E T RLE R P FEEE 7
WTELE (B)ﬁf_';t[ © F’TEJEI’I%‘; (D)}E;" E|
F' RO NELE A SRS B IERTS o WEB AS R 2
WHIEH A BT A OF 1= C s CLRIAS A

R T AR 2
W) E, J[iffﬁ B) 7 Ky M pF] 4 © 7 B ~ fuF gy ((OFERN pfjﬁ'@l



£ 52 1 2801
F = :4-3

27

28

29

30

31

32

33

34

35

36

37

38

39

40

“ r%fa PN ERT | 85 s ]’Fﬂ%ﬁ?'{?

VIR A 0 [ N TR T T

) TENE LA T ?ﬂ (%) A ik £ :% (HEEL R fH IJF%J[I F@rt AR E S
(C)JI'JPfft E‘yd/ii
(D)% T RL3 7
1@ T4H PO a'mﬁ SEMH TR E R R S R 2

WHFE J;tgH E'fﬁ rél ® 3 ]fF*,;ch :ﬁm% [ft%j:% gsft[ T
©5 i AR R V%W&Fﬂﬁﬂﬁ%@'
ERD LI %'E?f < V@%%la ’ *‘[I?;i?ﬁf:rﬁ kfjg';él’iéﬁje T g B o RS PR R AT B A
S0
ASZ IJ !
A4 J‘E%]‘ ® 5 'J\E%IJ‘ © 6 'J‘E%j D 8 'J‘Eﬁ

j\‘r/“?J%gﬁ’fl_{ SRS ]’Fﬂgﬁ?i?
OITERSE LTRSS T VR P

BYVFEES T VT ey ["—_ﬁ:"a‘%wl— Ky s %—Eﬁ'[ﬁj
(C)lj:@ﬁ_ F:LH?'];:,: ﬁﬁjpx#&?fw' T’J[]

D R VATES PSR ]y P 1 Al

Geniuses don’t follow what they are taught. They often come up with __ideas.

(A) unconventional (B) uncomfortable (© unconscious (D) unconditional

When traveling in the mountains, we had better carry a __ with us; otherwise, it is very likely that we will get
lost.

(A) bandage (B) tent (€) compass (D) cord

The city government met with strong _ from residents about its proposal to build a nuclear plant in this area.
In the end, the government had to drop the plan.

(A) recreation B) reliance (©) resignation (D) resistance

The _ sale will start tomorrow because this department store is going out of business.

(A) delegation B inflation © clearance (D) budget

Rock climbing can be an excitingbut __ sport, so it’s important to be careful.

(A) dangerous (B) energetic ©) inferior (D) mysterious

It required a big effort to make the house __ . The heating system had to be replaced, several windows repaired,
and one bathroom rebuilt.

(A) habitable (B) hospitable ©) inevitable (D) imaginative

During wartime, people often suffer terrible __, such as not enough food or fuel to keep them warm.

(A) hardship (B) leadership (©) partnership (D) relationship

Ken: I’m going to study in the library for several hours tonight.

Wendy:

Ken: Around 9:00 p.m. If anyone calls, take a message for me. Would you?

(A) Which library will you go? (B Where are you going?

(© What are you going to study? (D) When will you return home?

Peter: Would you like to stay in the Capsule Inn in Japan?

Jerry: I think it would be very uncomfortable.

Peter: But it sounds like a fantastic experience.

) For fun! (B By all means! © No way! (D) In no time!

Amy: I’m frustrated. | failed my math test.

Anne: ___ This is not the end of the world.

Amy: Thank you.
(A) You can count on it. (B) You deserve it. ©) Get out! (D) Cheer up!
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Nanotechnology is moving closer to our daily life. Researchers from the University of New South Wales,
Australia, are developing a coating that may make cleaning bathrooms _41 of a chore. The leading researchers,
Professors Rose Amal and Michael Brungs, are hoping to apply a tiny coating of titanium dioxide to keep the
toilets clean. Currently titanium dioxide is being used on outdoor items _42  self-cleaning windows.

To further keep the bathroom clean, nanoparticles kill the germs and remove organic compounds. _43 ,
the coating prevents liquid droplets from forming on the surface. It makes the liquid run off, _44 the toilet in
the process.

Exciting as this research project is, at this time it is currently only in development. The researchers _45 it
will take about a year before it can be seen on the market. It would certainly be great to have a clean bathroom
that would clean itself.

41 () hardly (B) never (© anymore (D) less

42 (A by (B) as ©) like (D) and

43 (4 Instead (B) Besides ©) However (D) Therefore
44 (A wash (B) washed (©) washing (D) washes

45 () estimate (B) demand (©) criticize (D) summarize

The tower of Pisa is the bell tower of the cathedral of Pisa in Tuscany, Italy. It leans because when the
building was half completed, the soil under one half of the circular structure began to subside and the tower
tipped.

Work on the tower was begun in 1173, but was discontinued for a century after the subsidence. However,
in 1275, architects devised a plan to compensate for the tilt. Two stories, the third and the fifth, were built out of
line with the others and closer to the vertical in an effort to alter the tower’s center of gravity.

But the leaning has continued to increase gradually throughout the centuries. Pumping to keep water away
from the surrounding ground and the injection of cement grout into the foundations and the surrounding subsoil
have been tried in recent years, but without success.

The tower, which is one of the most unusual in existence, is Romanesque in style and made of white marble.
It is cylindrical in shape and has eight stories.

The tilt is about 17 feet, or more than five degrees, from the perpendicular. The tower continues to increase
its tilt by about a quarter of an inch each year.

46  What is the main idea of this passage?

(A) Of all the tourist attractions in Italy, the tower of Pisa is undoubtedly the most popular.

(B) The collaboration of the Italian government and people has made the tower of Pisa become famous.

(© The best way to study Italian culture is to visit the tower of Pisa.

(D) Despite the effort over the past years, the tower of Pisa still keeps tipping.

47  According to the passage, which of the following is true about the tower of Pisa?

(A) It is made of cement. B It looks like a cylinder in appearance.
©) It is a Gothic cathedral. (D) It is a five-story building.
48 In four years’ time, how many inches will the tower of Pisa increase its tilt?
(A) one (B) two ©) three (D) four
49  Which of the following words is closest in meaning to “subside” in paragraph 1?
&) collapse B float (©) ascend (D) sink

50 Which of the following statements is NOT true about the tower of Pisa?
(A) Its construction began in the twelfth century.
(B) It was not until 1275 that a plan was put forward to solve the problem of its tilt.
(© Substituting water for cement was adopted to prevent the tower from leaning further.
(D) The third and fifth floors were built out of line with the others.



